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GCSE Mathematics
Practice Tests: Set 3

Paper 3F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

Use black ink or ball-point pen.
Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each guestion are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
Here is a list of numbers.
6 9 10 15 19 27
From the numbers in the list write down

(1) the square number,

hib Al - q

(ii) the prime number, |
-f-wo @«r.m g [Cf

(111) the cube number,

If B,?«},b@... 27‘.

(Total 3 marks)

Nathan thinks of a number. 2C go(m,ug Cr\O\ Sc\uW\ﬂ WN

He doubles the number. 2~
He adds 5 P

His answer is 17
What number does Nathan think of?
2x+sS=(F
(-—_ﬂ . =y
gy & x =6 Z
[ e R P PR PP E PP
(Total 3 marks)
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3.  Sally makes a fair 8-sided spinner for a game.

Diagram NOT
accurately drawn

Sally is going to spin the spinner once.
The spinner will land on one of the letters shown in the diagram.

impossible  unlikely evens likely certain

(a) From the list above, write down the word that best describes the likelihood

(1) that the spinner will land on the letter Y

(i1) that the spinner will land on the letter R
Youkef € = & - L
(111) that the spinner will land on the letter T

Ms T e [ W\P::S&blﬂ_

Sally makes a different fair 8-sided spinner.
The letters A, B, C and D will be on the spinner.

Tt caas manﬁt___ The probability that the spinner will land on A is twice the
-obability that tt inner will land on B.
o —— 6 probability that the spinner will land on

The probability that the spinner will land on C is the same as the
ng CasD) & probability that the spinner will land on D.

(b) Use this information to complete the spinner.

(2)
(Total 5 marks)
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On the grid, draw a line that is both
parallel to the line 4B —> Newure s fouw i
and the same length as the line 4B.

(Total 2 mark)
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5.  (a) Work out 40% of 20
1O0°%/c = 20
(=) | 107 = 2
( \,CL{.) L[-OU[ o = —5; ................ g ............
(2)
Here are four numbers I
Conv ef‘h\r\ﬁ oP
3 7
043 z 43.8% e
O O.42E Oouzf oS
(b) Write these numbers in order of size VSE Yool CHRCOATR \
Start with the@mallesfinumber
o3
O.U2T
@ O -t2&
@ O -uUuz3S
=2
s 3
¥+ 0%, ¢, W3-8 “o
)
(Total 4 mark)
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Sarah says,
"When square a prime number you always get an odd number."

(a) Write down one example to show that Sarah is wrong.

. 2
..... 203 pame. . 2522 = Y G S ST ead IE D 9N,

Emily says,
"The lowest number that 3 and 6 both divide into exactly is 18"

(b) Is Emily correct?
Y ou must give a reason for your answer.

(1)
(Total 2 mark)
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Batteries are sold in packets and in boxes.

There are 4 batteries in a packet.
There are 20 batteries in a box.

Derek buys one box of batteries.
He takes 1 batteries out of the box.

(a) Write down an expression, in terms of 7, for the number of batteries left in the box.

oNg box —= 20

Sameena buys x packets of batteries and y boxes of batteries.

(h) Write down an expression, in terms of x and y, for the total number of batteries Sameena
buys.

o pock = Le
e bok -l Z.C)

(2)
(Total 3 marks)
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8 People can buy three types of plane tickets.

They can buy

an Economy ticket
a Premium ticket
or a Business ticket

(D 200 people buy plane tickets.

92 males buy tickets
30 of the males buy Business tickets

62 females buy Economy tickets

@ A total of 44 people buy Business tickets.
@ A total of 60 people buy Premium tickets.

How many males buy Premium tickets?

You must show all your working.

PLEATDINM | BOSTRNESS

MALE

@ -2g

cEmALE

®= 2L

ToTAL

©= O

Funespes: (6) 200-42= 108

@
®
@

44 —20 = (Y
o€ -62-1w="32

60 -2 -

(Total 4 marks)
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P Lothong Stroveper LresS

On the grid, draw the graph of y = %x + 3 for values of x from -2 to 4.

€ =y 3:%;._(@4—3:_.3"
75:’—?—" Y= 5L (B2 =—'+S
T. el '.j: Ji(z)‘t'g"q‘

YA

 / \j-'—"z'ou*f&

e S I S o
i t {
i |
] H H i
i i ] i »
L . 2 o
-3 =2 -1 0 1 2 3 4 5 &
| ? ‘
£ |
il Ly T —— e
(Total 3 marks)
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10  Here are the ingredients needed to make 10 pancakes.

Pancakes
Ingredients to make 10 pancakes

300 m/ of milk
120g  of flour

2 egos

Matthew makes 30 pancakes.

(a) Work out how much flour he uses.

Scedafacrer| 20 Z10 =3 L logeouods M e (%3),
Hooe 1209 X3 = 2609

Tara makes some pancakes.
She uses 750 m/ of milk.

(h) Work out how many pancakes she makes.

Cealo fodtar | FSOMmIZ200mL = 2.5 . 2 § \adcha S

|Poncoues VO e 2.8 =B

@)
(Total 4 mark)
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11. £3601is sharedintheratiol :3:5

Work out the difference between the largest share and the smallest share.

To4=\ Povis +3CS = O\@cu’r's
£260 = A ports
(zal [ LW = | port

10 3. S ()| 40! 1w 200

D ffoea (Big-Srah)| L 200~ £ = k1O

(Total 3 marks)
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12. (a) Work out the output for this number machine.

(]

x2 — -3

1o =+

Forcaon. Mochness

(2)
(b) Work out the input for this number machine.
input ——1'1' X2 L—l"ﬁ -3 — 17
Caped & . e— +D5 —
Ta) 20
.................. Q...
(2)
(¢) The input for this number machine is m.
1y %2 ‘—* -3 — oulput
Find an expression, in terms of i, for the output.
23
2
(d) The output for this number machine is 7.
g, ———— » 2 S —3 1
Find an expresstvi‘n, in terms of g, for the output.
fryee
=
- B,
@)

(Total 8 marks)
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13.
The table shows the playing tim

ﬂdowjumo»j&‘(’m

Jenny wants to record 15 minutes of songs for a film.

¢ of 3 songs she has recorded.

_——-—

Playing time a

4 minutes and 33 seconds

3 minutes and 42 seconds

3 minutes and 06 seconds

How much more time, in minutes and seconds, does she need to record?

(Mvewies) Ar+arc

(Secenals) A—++c !
€| SeeendS th muns

Toted A IB8+C

Aot Neoded Ter Gruns

|

LerainS 43NS 4 Dpnt = (OpunS
Ly secst LULCecs 4 &lecs = ¥(secs

%l Seeends = |mon Alsecs

[lmuAs 2t SecS

ISmuns = g ALsecS

2mun! BA sec S

seconds

(Total 4 marks)
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14. The table gives some information about the costs of posting large letters.

First Class Post — Delivery takes 1 to 2 days

Weight (g) Cost
50— 100 50p
101 - 250 72p
251 - 500 £1.04
501 - 750 £1.51

Second Class Post — Delivery takes 3 to 5 days

Weight (g) Cost
50— 100 40p
101 —= 250 59p
251 - 500 85p
501 - 750 £1.23

Leroy works for a company.
In January he sends some large letters by first class post.

The table gives information about numbers and weights of the large letters.

Weight (g) Number of large letters
50- 100 28

101 - 250 32

251 - 500 50

501 - 750 18
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(a) Calculate the total cost of sending these large letters by first class post.
——

So—tee | SOp x2%¥ = L4, 0O
lot =250 | Fzp k 32 = £2% .04
251 -SO0 |£lck X SO = £S2-C0 @
sol1-750 |[£1-SIx(§ = FZ218

Tetal =#16.22 | ooz

In February, Leroy is going to send some more large letters.

The table gives information about the weights and numbers of these large letters.

l Weight (g) L Number of large letters I
, 50-100 32 |
 101-250 | ' 50

251 — 500 | 68

501 — 750 l 34

Leroy can use either first class post or second class post.
He thinks it will cost £20 less to send the letters by second class post.

(b) Is Leroy correct?
You must show your working.

IS+ chesg S ad. CAOSS
-0 [3Lx SOp = LEO0| so-~o0 31w Uop =Z£(2-£0
c1—280 |“Ox Np =£2¢80 | 101-250O WO X SAp = £23.60
18| —=soo | 68 X £1-04 <oz 2S5 1 —S00 LR x &Sp = £S2.%0
oo | 2 xfl S| =£83 sor—3$0 | 3w X H2B ~Lu(.€2

Tt | <
o ten =46 66 - (@) F36.02
(Total 7 marks)

Cencbosen - Neo JE itk ca.d:ua)t:) cott Z£230.-84 (ees.
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Answer ALL questions.
Write vour answers in the spaces provided.

You must write down all the stages in your working.

L —2<u<3
118 an Integer. —o wohslo numag/S

(a) Write down all the possible values of .

= llO/ ‘/?J%

(2)
X is a number.
Another number is 9 greater than x.
Both numbers are whole numbers.
The total of the two numbers is less than 60
(b) Find the greatest possible value of v,
4 AR < 60
x+q —22<v3 <60
colleek 2% £ S|
(=2) o €, WE
Contluston = 25 (monahum)
______________ CAYEN
(3)

(Total 5 marks)

(3¢ )
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16. The nth term of sequence A is 3n—2
The nth term of sequence B is 10 — 2n

Sally says there is only one number that is in both sequence A and sequence B.

Is Sally right?

You must explain your answer.

A:

f——1

R

CCH‘\ AduR IC‘/\.

Term | 2z ™
Sequance | @ 3 1o 13 16

Ten | 22 > % S 6
Seguane ¢ 6 @ 2 0 -2

S%r.\. cometk S Cnly 4 is A bota
Seqmancen , bunel Aic noaosigy\eed R is dorraategy

(Total 2 marks)
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H Diagram NOT
accurately drawn

7.8 cm
X Cin

Work out the value of x.
Give your answer correct to 3 significant figures,

v K A = &
Sﬁim"‘“é& [

+-5

(2. %) F .5 xS =950 2 ‘5-'37-&3‘3"{')

(Total 3 marks)
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Here is a formula used to work out the speed, v mph, of a car making an emergency stop.
v=4/21d

d feet is the length of the mark the car’s tyres make on the road when making an emergency
stop.

A car makes an emergency stop.
The car’s tyres make a mark 90 feet long.

(a) Work out the speed of the car.
Give your answer correct to the nearest whole number.

V= V2l @)

V= Gy (necoedt MM)MF\,\

A car made an emergency stop.
The car’s speed was 50 mph.

(b) Work out the length of the mark on the road.
Give your answer correct to the nearest whole number.

V= \JQJC\ SC):'\]Z\Cl

(WS | 2500 = 2\d
(= 23) N4 = ol (reemsr wle)

(3)
(Total 5 marks)
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19.  Andy has some counters.

15% of the counters are red.

%of the counters are blue.

The rest of the counters are yellow.
There are 27 yellow counters.

How many blue counters are there?

Fachens oo Pﬂw@@ of en Amont

TTeted T (O0%%6 000 =S /o = &S .

Bua=2=ucle | 35°/%-W% = WS

L‘IQQLO'-‘O = L-}'S.o/a

2 conters = L{.S"/o

(=q) 2 canms = 5%

(x25) D cowntess = OO

Bue = wo%% R

2
- Zf60=T xbo-2e

(Total 5 marks)
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20. Here is a diagram of Gareth’s lawn.

” ; Diagram NOT
0.53m accurately drawn
B losm |
6m Lawn
- .
O-Sw §m © 'Sf,\
\lt e

The lawn is in the shape of a rectangle. The length of the lawn is 8 m.
The width of the lawn is 6 m.

There is a path all the way around the lawn. The path is made from paving slabs.
Each paving slab is a square 0.5 m by 0.5 m. The width of the path is 0.5 m.

Work out the number of paving slabs in the path.

WSMJS o Langia (Heted) = B+ O S +O. S =Gm
Numbset of SleoS Gt 0. 5w = 1% LQJ\S*"'M"@-S ot tep ondl o attem

widanoyS ]: Lot = B
Numbes ch Slalos Gon = O-Son = (2 Mw@s

Totel  Slobs 1B+ & +1+(2 = 60

r——

(Total 3 marks)
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21.

@ew;vf o~ Scoke DFO\SWQ.MS

The diagram shows an accurate scale drawing of part of the boundary of a field.
The complete boundary of the field is in the shape of a quadrilateral ABCD.

AB =300 metres.
BC =230 metres.
Point B is due north of point C.

The scale of the diagram is 1 cm to 50 metres.

ol
The bearing of D from C is 260°. —> vreaSc=a e e \.nima uﬁ:} ks gras Hais :

AD = 480 metres.

Complete the scale drawing of the boundary of the field.

Mark the position of D.
North
Fy
4 300 m

B

230 m

¢ )260

AD=U& Ow~ Jlom © SO watve s
qf‘.& D w0 warve S RO ':SC)T—C\'S
[ o5

(Total 2 marks)

R e 1 2 e i STy e e S e R AR s
TOTAL FOR PAPER IS 80 MARKS
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